Efficiency vs Dxy(PV)

S -
o
S
x
kel
[
>
>
Q
c
3
Q
=
()
diprarfeos
)
I
@
0¥ E=30-15-10 -5 0 5 10 15 20 25

TP dxy(PV) (cm)

—"— DQM_TT__mkFit-DQM_original-0

| Efficieng] — DQM_TT__mkFit-DQM_updated-0

1.2

0.8]

efficiency vs dxy(PV)

0.6}

0.4]

y.l|

il

|

Ratio

09%7-0.8-0.6-0.4-0.2 0

20.4 0.6 0.
)

Efficiency vs Dz(PV)
1.

S 1r T T T T
g [ : : : :
¥ I : : : :
o Yoo prrerrreees R Tt
> B . . . .
& : : : :
& 0.8f--eeees eredeeee e PR
s I : : : :
E T : : : :
@ o . . . .
0.6 = rwreeee Perees FREREEE e PR
0.4f-ceedeeees T RERER N EERSPPPS
0.2f--e e ] ERS SR
I i | +: | i
g% : s :
T
o
L R L e
0¥ 20 -i0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1.
o
i1
kel
[
>
>
Q
c
Q
o
°
Q
)
5
@
865 0 0.5

B 1
TP dz(PV) (cm)



	Contents
	Page 1


